Stock Redemption Agreement: Basis Implications

ABC Corporation is a C Corporation.
While both Shareholder A and Shareholder B are alive:
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Shareholder A owns 1

share of stock valued at »

$500,000 with a 0 basis.

Shareholder B owns 1

h share of stock valued at

$500,000 with a 0 basis.
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When Shareholder A dies:
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ABC stock gets a step-up
in basis. In the hands of the |[||l5
estate, ABC stock has a fair ABC Corporation
market value of $500,000 P

and a basis of $500,000.

After A dies, B owns 100% of ABC
Corporation. The fair market value
of ABC Corporation is $1.0 million.
Shareholder B’s basis in the
corporation is 0.
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